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WA H A m], B E B EH0E. #lin: Today many students use
computers to do homework.

Hk, nBES AR, I HARM —DHET L, WA E W a 5 an.
5. Many parents choose to buy a computer as a birthday gift for their
children.

U RGBT R E I —A, WA E T the. #lH1: You can use the
computer in the sitting room to surf the Internet.

Jlid:
A FE AR, B RIA A HEHOEA. #la This

question has answer. XHFA]F 217K, FHN answer &A%
A, XEHITYBRIFPHFM. TN :

This question has an answer.

This question has answers.
This question has no answer. (% &1 no 7] LLINEAEEE EH)
This question has its answer. (¥ 5T PAN 88k & 8 50

BRI A, AIEAA A N HIAE M A S T, A AR R ARG, %4
AT T BN e . B at university/school; by car 8%, HJJ[#H 24

4, ATECA W S A AT TS AN T N E ], BRAER e . AN R
IS XRIX R, Sef3 e in G b, Btae “i—k” , SLNGRRA [ . 4
4: Learning can be personalised to help the students. IX/Ma) T H [ the students
PRGN, FOIX BT R S AR IR R R W — e 224k . T RAEk: Learning can
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be personalised to help students. B¢ Learning can be personalised to help the
students with learning difficulties. UIEHIEE —a) 1 B students KNG
A TR FEE T, feARLE “CH RGN EA” , R, PIHT TN b e i
the 7" LR HER

UYi5E 1 A EAA I B, AT ORE B AN AT 204 G B AR e ?

B, A EAREEIE . #li05)F Some young people can receive
trainings FtAELEH], KN training AR #4477, NN Some young people can
receive training.

Hk, DAL INAE /T a 5% an. HlWA) T Tt is difficult to find a
full-time employment Ft/2ANTHI, KA employment e ANAI 41, MM It is
difficult to find full-time employment B¢ It is difficult to find a full-time
job, job R[4, i A LUINASE e in] a.

e Ja, ] E4 T — A e 1A theo HlU17)F We can acquire the knowledge
by reading books, 1X#)if B knowledge - ARFFEEMRLEEIN, A 50R, FTBAA
0 the 245+, FTLAMCA We can acquire knowledge by reading books. 244K,
o B4 B4 knowledge, W] PAZERTMEIANE 7iA] the, fI4: We can acquire the
knowledge about history by reading books.
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